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DHCP client's dhcpagent to request additional networking information from the DHCP
server. Which variable must be modified?

A. PARAM_REQUEST LIST
B. PARAM_REQUEST ADDRESS

C. PARAM_REQUEST NETWORKING
D. PARAM_REQUEST ROWS

E. PARAM_REQUEST

Answer: A

QUESTION: 308
Which information is found in TCP segment headers? (Choose two.)

A. sequence numbers

B. congestion window

C. MAC address

D. window advertisements
E. UDP datagram

Answer: A,D

QUESTION: 309

DRAG DROP

Click the Task button.

Two commands are used to configure an IPv6 6to4 Router. Place command segments in their
places to complete these commands. Note: Not all text segments will be used.
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The following two commands are used to configure an IPvE Btod Router.

Place the command segments in their places to complete the commands.
Mote: Mot all command segments will be used.

Commands to configure IPv6 6tod Router :

ifconfig ip Btodtunl inetd Place here

ifconfig Flace here ineth tsrc Flace here Flace here B4 up

Command segments

19216810247 =25 0w o = o ip.Etodtuno fecl:ddct:1e11 11
2002:d0et:1e1 171 plurmb ndpd ip.Etodtunz
Answer:

The following two commands are used to configure an IPvE Btod Router.

Place the command segments in their places to complete the commands.
Mote: Mot all command segments will be used.

Commands to configure IPv6 6tod Router :

ifconfig ip Btodtun inetf [002d0c et 1T

ifconfig ip.Btadtun ineth tsrc ndpd 19216810242 VB4 up

Command segments

19216810247 fied0:ddct:1el 111 ip.Etodtuni fecl:dict:1e11 11

2002:d0et:1 et 1171 plurmb ndpd ip.Etodtunz

QUESTION: 310

A system administrator is trying to boot a system from a network boot server. The system
fails to boot and displays the following error: Timeout waiting for ARP/RARP packet Which
command indicates whether or not the RARP packet arrived at the server and the server
replied?

A.arp -a
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B. inetadm -d
C. in.rarpd -da
D. rarp -debug

Answer: C

QUESTION: 311

Click the Exhibit button.

The output from a netstat -r command is shown in the exhibit. In this output, the destination
192.168.100.0 is shown as an IP address. Which file should you modify to assign a name to
this network so that this name is shown in the netstat -r output?

£ net=ztat —-r

Fouting Table: IPw4d

Deztination Gateway
Flag= Ref U= Interface
192 160.100.0 router? i
1 1]
localnet myho=t i)
1 5978 hmel
224 .0.0.0 myho=t i)
1 0 hmel
default routerl N[
1 & hmel
localho=st localho=st TH

4 66518 1ol

A. /etc/inet/networks.conf

B. /etc/default/networks.conf
C. letc/networks.conf

D. /etc/inet/hosts

E. /etc/inet/networks

Answer: E
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QUESTION: 312

While configuring Solaris IP Filter on a system, you want to block all ICMP Redirect
packets. /usr/include/netinet/ip_icmp.h  contains the following entry : #define
ICMP_REDIRECT 5 /* shorter route, codes:/ Which rule should you add to your Solaris IP
Filter configuration to block all such packets?

A. block in quick proto icmp-type 5 from any to 0/32

B. block in quick proto ip 5 from any to 0/32

C. block in quick proto icmp from any to 0/32 icmp-type 5
D. block in quick proto ip icmp-type 5 from any to 0/32

E. block in quick proto 5 from any to 0/32

Answer: C

QUESTION: 313

DRAG DROP

Click the Task button.

Place each network component on the layer at which it operates.

Flace each network component on the layer at which it
operates.

Layers Network Components
Application layer Switch
Internet layer Fouter
Neteork Interface layer Intrusion Detection System
Hardware layer Hulb

Answer:
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Flace each network component on the layer at which it
operates.

Layers Network Components
Intrusion Detection System Syvitch
Fouter Fouter
Switch Intrusion Detection System
Hukb | Hukb }

QUESTION: 314
A Solaris 10 OS administrator needs to configure a host to operate as an NTP server. Which

two must be performed on the host? (Choose two.)

A. execute /usr/sbin/ntp.server start

B. execute snoop -d hmeO | grep NTP

C. execute svcadm enable svc:/network/ntp
D. populate a /etc/inet/ntp.conf file

E. edit the /etc/inet/ntp.server file

Answer: C,D

QUESTION: 315

DRAG DROP

Click the Task button.

Place each LAN component next to its description.

172



Place each LAN component next to its description.

LAN Components Descriptions

Place here | |[COnnects networks that use different protocol suites

Flace here | [amplifies signals to extend the distance of transmission

Flace here | [COnnects network segments and filtersfforvards packets

Flace here | lbroadcasts all packets out all connected ports

LAN components to be moved:

bridge pateway hiub repeater Dane

Answer:

Place each LAN component next to its description.

LAN Components Descriptions

gatewsay | [connects networks that use different protocaol suites

repeater | [amplifies signals to extend the distance of transmission

bridge | [zonnects network segments and filtersfonwards packets

hiub broadcasts all packets out all connected ports

LAN components to be moved:

bridge fateway hiub repeater Done

QUESTION: 316
Click the Exhibit button.
Which command yields the output shown in the exhibit?
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Using the /dev/hme device [promiscuous mode)

sy=l? - =v=ll ETHEE Twpe=0800 (IF). =ize
= 983 bvte=s

sy=l? - =v=ll IF D=192 . 1e8.1.1
5=192 168 .1 .2 LEN=84, ID=48009, TOS=0=0,
TTL=255

sy=ld - =v=ll ICHF Echo Regue=st (ID: 345
Sequence number: 0)

sy=1l - =y=l2 ETHEE Twpe=0800 (IP). =ize
= 98 hbvtes

sy=1ll - =y=l2 IF D=197 . 168.1 .2

5=192 1668.1.1 LEN=84., ID=45375, TOS=0=x0,
TTL=255

sy=1ll - =y=ld ICHP Echo Eeplwy (ID: 345

Sequence number: 0)

A. snoop -d hme0 192.168.1.2

B. snoop -d hme0 -V 192.168.1.2

C. snoop -d hme0 -0 /tmp/192.168.1.2
D. snoop -v -d gfe0 broadcast

E. snoop icmp

Answer: B

QUESTION: 317

You wish to add a static route to the routing table on your system. You add the following line
to the /etc/defaultrouter file: net 129.159.158.0 gateway gw-157-158 metric 1 When the
system is rebooted, you observe that the in.routed daemon has not started. The svcs —x
command shows no problems. The netstat -r command does not show the static route in the
routing table. What is the cause of this problem?

A. The entry should have been placed in the /etc/gateways file.

B. The entry should have contained the static keyword.

C. The entry does not contain a netmask specification.

D. The entry should use the IP address of the gateway, not its name.

Answer: A
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